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ÍÛæ̃ Û¶ ÛÛ : (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷¶ÛÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 
   (2) ›÷ÄõÁõà •Û¨Û©ÛÁõà…Ûé ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÈÛÛ¶Ûà ™öé. 

 
1. ÈÛÍ©Ûä ‘M’¶ÛÛ …éïõ …éïõ¾Û¶ÛÛ Š©¸ÛÛþù¶Û ¾ÛÛ¤éø¶ÛÛ ¸Ûó¾ÛÛ¨Û¶Ûä× Ü¾ÛËÛ¨Û ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 14 

¾ÛÛÅÛÍÛ Û¾ÛÛ¶ Û …éï õ ¾ÛÛé …éï õ ¾Ûþù à¥ ø ½ÛÛÈÛ  ((((`̀̀̀)))) Áõ ï õ ¾Û ((((`̀̀̀)))) 

… 60 15  900  

¼Û 80 20  1,600  

ïõ 100 25  2,500  

    5,000  

 …éÜ¸ÛóÅÛ ¾ÛÛÍÛ þùÁõ¾ýÛÛ¶Û ”ÛÁéõ”ÛÁõ 10 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û ¬ÛýÛä× Ðü©Ûä× ÈÛ¸ÛÁõÛõÉÛ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé Ðü©ÛÛé : 

¾ÛÛÅÛÍÛ Û¾ÛÛ¶ Û …éï õ ¾ÛÛé …éï õ ¾Ûþù à¥ ø ½ÛÛÈÛ  ((((`̀̀̀)))) Áõ ï õ ¾Û ((((`̀̀̀)))) 

… 640 17.50  11,200  

¼Û 950 18.00  17,100  

ïõ 870 27.50  23,925  

 2,460   52,225  

 • Û¨Û© ÛÁõ à ï õ Áõ Ûé : 

 (1) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 

 (2) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ½ÛÛÈÛ ÜÈÛ˜ÛÅÛ¶Û 

 (3) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ÈÛ¸ÛÁõÛÉÛ ÜÈÛ˜ÛÅÛ¶Û 

 (4) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Ü¾ÛËÛ ÜÈÛ˜ÛÅÛ¶Û 

 (5) ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û Š¸Û›÷ ÜÈÛ˜ÛÅÛ¶Û 

…¬ÛÈÛÛ 
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1. ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¾Û›æ÷Áõà¶ÛÛ ¶Ûà˜Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé •Û¨ÛÛé : 14 

 (1) ¾Û›æ÷Áõà ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 

 (2) ¾Û›æ÷Áõà þùÁõ ÜÈÛ˜ÛÅÛ¶Û 

 (3) ¾Û›æ÷Áõà Ü¾ÛËÛ ÜÈÛ˜ÛÅÛ¶Û 

 (4) ¾Û›æ÷Áõ ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

¸ Ûóï õ ÛÁõ 
” ÛÁéõ ” ÛÁõ ¸ Ûó¾ÛÛ¨Û 

ï õ ÅÛÛï õ Ûé þù Áõ  ((((`̀̀̀)))) Áõ ï õ ¾Û ((((`̀̀̀)))) ï õ ÅÛÛï õ Ûé þù Áõ  ((((`̀̀̀)))) Áõ ï õ ¾Û ((((`̀̀̀)))) 

ïäõÉÛÇ 350 25 8,750 400 20 8,000 

Ü¼Û¶Û ïäõÉÛÇ 525 10 5,250 500 10 5,000 

¾Ûþùþù¶ÛàÉÛ 675 04 2,700 700 05 3,500 

   16,700   16,500 

 

 

2. (a) ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ÅÛ”ÛÛé. 4 

 (b) ÍÛà•¾ÛÛ ÈÛîÍÛÙ ¸ÛóÛ.ÜÅÛ.¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ×¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛÇà …ÛÈÛé ™öé : 10 

ÜÈÛ• Û© Û …×þù ÛÜ›÷ © Û ” ÛÁéõ ” ÛÁõ 

Š©¸ÛÛþù¶Û¶ÛÛ …éïõ¾ÛÛé 7500 7875 

”ÛÁéõ”ÛÁõ ïõÅÛÛïõÛé – 82,500 

ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ (`) 75,000 90,000 

…éïõ¾Ûþùà¥ø ¸Ûó¾ÛÛ¨Û ÍÛ¾ÛýÛ (ïõÅÛÛïõ) 10 – 

   • Û¨Û© ÛÁõ à ï õ Áõ Ûé : 

   (1) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û 

   (2) ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û (¼Û›÷é¤ø ÜÈÛ˜ÛÅÛ¶Û) 

   (3) ÜÍ¬ÛÁõ ”Û˜ÛÙ ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

   (4) ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

   (5) Š©¸ÛÛþù¶Û ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û 

…¬ÛÈÛÛ 



JF-108  3 P.T.O.  

2. ªÛ¨Û ¸ÛóïõÛÁõ¶Ûà ˜Ûà›÷ÈÛÍ©Ûä…Ûé¶ÛÛ ¸Ûó¾ÛÛ¨Û …¶Ûé ”ÛÁéõ”ÛÁõ ÈÛé̃ ÛÛ¨Û¶Ûé ÅÛ•Û©Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 14  

ÈÛÍ© Ûä 

¸ Ûó¾ÛÛ¨Û ” ÛÁéõ ” ÛÁõ 

›÷ ¬¬ÛÛé …éï õ ¾Ûþù à¥ ø ½ÛÛÈÛ  
((((`̀̀̀)))) 

›÷ ¬¬ÛÛé …éï õ ¾Ûþù à¥ ø ½ÛÛÈÛ  
((((`̀̀̀)))) 

… 3,500 15 3,500 15 

¼Û 4,200 18.75 2,800 18 

ïõ 2,800 20.25 2,100 21 

 10,500  8,400  

 • Û¨Û© ÛÁõ à ï õ Áõ Ûé : 

  (1) ïäõÅÛ ÈÛé̃ ÛÛ¨Û ¾ÛæÅýÛ ÜÈÛ˜ÛÅÛ¶Û 

 (2) ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ÜÈÛ˜ÛÅÛ¶Û 

 (3) ÈÛé̃ ÛÛ¨Û ¸Ûé¤øÛ ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

 (4) ÈÛé̃ ÛÛ¨Û ›÷¬¬ÛÛ ÜÈÛ˜ÛÅÛ¶Û 

 (5) ÈÛé̃ ÛÛ¨Û Ü¾ÛËÛ¨Û ÜÈÛ˜ÛÅÛ¶Û 

 

3. (a) 5%¶ÛÛ ˜Û’õÈÛèÜ±ù ÈýÛÛ›÷¶ÛÛ þùÁéõ ïõˆ Áõïõ¾Û¶Ûä× ÁõÛéïõÛ¨Û ïõÁõÈÛÛ¬Ûà 20 ÈÛÌÛÙ¶ÛÛ …×©Ûé ` 36,000 ¸ÛóÛ¸©Û 
¬ÛÛýÛ ?   3 

 (b) ›Ûé ÈÛÛÜÌÛÙïõ ÈýÛÛ›÷¶ÛÛé þùÁõ 12% ÐüÛéýÛ, ©ÛÛé ¶Ûà˜Ûé¶ÛÛ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ÉÛÛéµÛÛé : 4 

  (1) ¸Ûó¬Û¾Û ÈÛÌÛÙ …¶Ûé ªÛà›Û ÈÛÌÛÙ¶ÛÛ …×©Ûé ¾ÛÇ©ÛÛ× ` 5,000¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ. 

  (2) ªÛà›Û …¶Ûé ¸ÛÛ×̃ Û¾ÛÛ ÈÛÌÛÙ¶ÛÛ …×©Ûé ¾ÛÇ©ÛÛ× ` 5,000¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ. 

  ¤éø¼ÛÅÛ-…é-3 ¾Ûä›÷¼Û ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 

¸Ûó¬Û¾Û ÈÛÌÛÙ 0.893 

¼Ûà›ä×÷ ÈÛÌÛÙ 0.797 

ªÛà›ä×÷ ÈÛÌÛÙ 0.712 

˜ÛÛé¬Ûä× ÈÛÌÛÙ 0.636 

¸ÛÛ×̃ Û¾Ûä× ÈÛÌÛÙ 0.567 

 (c) ÈÛ¤øÛÈÛ¶Ûà ›ä÷þùà-›ä÷þùà ¸Û±ùÜ©Û…Ûé ›÷¨ÛÛÈÛÛé …¶Ûé •Û¾Ûé ©Ûé ¸Û±ùÜ©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé (techniques of 
discounting)  7 

    …¬ÛÈÛÛ 

3. (a) …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ¶ÛÛ þùÁõ (IRR) ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 7 

 (b) ¸ÛÁõ©Û …Û¸Û ÍÛ¾ÛýÛ – ¸Û±ùÜ©Û ÜÈÛÉÛé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 3 
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 (c) …éïõ ÁõÛéïõÛ¨ÛïõÛÁõ¶Ûé ÁõÛéïõÛ¨Û …×•Ûé ¼Ûé ÜÈÛïõÅ¸ÛÛé ¾ÛÇéÅÛÛ ™öé 10% ÈýÛÛ›÷¶ÛÛ þùÁõ¶Ûà µÛÛÁõ¨ÛÛ ïõÁõà ïõýÛÛé 
ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÈÛÛé ›Ûé̂ …é ©Ûé ›÷¨ÛÛÈÛÛé. 4 

  (1) ` 20,000 ˜ÛÛÁõ ÈÛÌÛÙ ¸Û™öà ¾ÛéÇÈÛÈÛÛ. 

  (2) ` 5,000 þùÁõ ÈÛÌÛë ˜ÛÛÁõ ÈÛÌÛÙ ÍÛäµÛà ¾ÛéÇÈÛÈÛÛ. 

            10%¶ ÛÛ Èý ÛÛ›÷ ¶ ÛÛ  þù Áéõ 

¤ éø¼ ÛÅÛ-3 ¸ Ûó¾ÛÛ¨Ûé  ¸ ÛÜÁõ ¼ ÛÇ ¤ éø¼ ÛÅÛ-4 ¸ Ûó¾ÛÛ¨Ûé  ¸ ÛÜÁõ ¼ ÛÇ 

2 ÈÛÌÛÙ ¾ÛÛ¤éø 0.826 1.736 

4 ÈÛÌÛÙ ¾ÛÛ¤éø 0.683 3.170 

6 ÈÛÌÛÙ ¾ÛÛ¤éø 0.584 4.355 

 

4. …éïõ ¸ÛóÛé›÷éî¤ø¾ÛÛ×¬Ûà –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ ÈÛÛÜÌÛÙïõ ` 1,40,000 ¶Ûà …ÛÈÛïõ ¾ÛÇé ©ÛéÈÛÛé …×þùÛ›÷ ™öé. 
¸ÛóÛé›÷éî¤ø¶Ûà …¶ýÛ ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 14 

 ›÷ÄõÁõà ÁõÛéïõÛ¨Û : ` 2,00,000, …×þùÛœ÷ …ÛýÛäÌýÛ : 5 ÈÛÌÛÙ 

 …ÛýÛäÌýÛ ¼ÛÛþù …×þùÛœ÷ ½Û×•ÛÛÁõ Ýïõ¾Û©Û : ` 40,000 

 ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ : 50%, ¾Ûæ¦øà ¸Û¦ø©ÛÁõ (ïõÁõÈÛéÁõÛ ¼ÛÛþù) 10% ™öé.  

 (a) …Û ýÛÛé›÷¶ÛÛ¾ÛÛ× ˜ÛÛé””Ûä ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ïéõ¤øÅÛä× ÐüÉÛé ? 

 (b) 20% ÈÛ¤øÛÈÛ …ÈÛýÛÈÛ …¶Ûé 22% ÈÛ¤øÛÈÛ …ÈÛýÛÈÛ¶Ûà ¾Ûþùþù¬Ûà …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ¶ÛÛé ïéõ¤øÅÛÛé ÐüÉÛé ©Ûé 
ÉÛÛéµÛÛé. 

ÈÛ¤ øÛÈ Û-¸ ÛÜÁõ ¼ ÛÇ 

ÈÛÌÛÙ →→→→ 1 2 3 4 5 

10% ÅÛé”Ûé ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 0.909 0.827 0.751 0.683 0.621 

20% ÅÛé”Ûé ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 0.8333 0.6944 0.5787 0.4823 0.4019 

22% ÅÛé”Ûé ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ 0.8197 0.6719 0.5507 0.4514 0.3700 

…¬ÛÈÛÛ 
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4. ÜÈÛïõÛÍÛ ÜÅÛÜ¾Û¤éø¦ø …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ¾ÛÛ×•Ûé ™öé. ï×õ¸Û¶Ûà ¸ÛÛÍÛé ýÛ×ªÛ (X) …¶Ûé ýÛ×ªÛ (Y) …é¾Û ¼Ûé þùÁõ”ÛÛÍ©Û 
™öé. þùÁéõïõ ýÛ×ªÛ ` 10,00,000 ¶Ûä× ¾Ûæ¦øàÁõÛéïõÛ¨Û ¾ÛÛ•Ûé ™öé …¶Ûé þùÁéõïõ ýÛ×ªÛ¶Ûà ¸ÛÛ×̃ Û ÈÛÌÛÙ¶ÛÛ Š¸ÛõýÛÛé•Ûà 
…ÛýÛäÌýÛ¶Ûé …×©Ûé ½Û×•ÛÛÁõ Ýïõ¾Û©Û ` 50,000¶Ûà …×þùÛ›÷ÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ™öé …¶Ûé 
¾Ûæ¦øà ¸Û¦ø©ÛÁõ 12% ™öé. 14 

 –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ×¶Ûà ¼Û·Ûé ýÛ×ªÛ¶Ûà …×þùÛœ÷ …ÛÈÛïõ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 

ÈÛÌÛÙ ý Û×ªÛ X 

((((`̀̀̀)))) 

ý Û×ªÛ Y 

((((`̀̀̀)))) 

1 6,50,000 5,50,000 

2 5,00,000 6,50,000 

3 4,00,000 4,00,000 

4 3,50,000 3,00,000 

5 2,50,000 3,50,000 

 þùÁõ”ÛÛÍ©Û¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé …¶Ûé ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛà ¸Û±ùÜ©Û…Ûé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ïõýÛä× ýÛ×ªÛ ¸ÛÍÛ×þù•Ûà ÅÛÛýÛïõ 
(ºõÛýÛþùÛïõÛÁõïõ) ™öé ©Ûé ›÷¨ÛÛÈÛÛé : 

 (1) ¸ÛÁõ©Û-…Û¸Û ÍÛ¾ÛýÛ ¸Û±ùÜ©Û 

 (2) ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ¶ÛÛ þùÁõ¶Ûà ¸Û±ùÜ©Û 

 (3) ˜ÛÛé””ÛÛ ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ¶Ûà ¸Û±ùÜ©Û 

 (4) ¶ÛºõÛïõÛÁõïõ©ÛÛ¶ÛÛé …Û×ïõ 

 12%¶ÛÛ þùÁéõ …éïõ ÄõÜ¸ÛýÛÛ¶Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 

ÈÛÌÛÙ 1 2 3 4 5 

ÈÛ© ÛÙ¾ÛÛ¶ Û ¾Û æÅý Û 0.893 0.797 0.712 0.636 0.567 
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5. ¶Ûà˜Ûé þùÁéõïõ ¸Ûé¤øÛ-¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ›÷ÈÛÛ¼ÛÛé …Û¸ÛéÅÛÛ ™öé. ©Ûé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¶Û‘õà ïõÁõÛé …¶Ûé 
©Ûé¶ÛÛ ÍÛ¾Û¬ÛÙ¶Û¾ÛÛ× ›÷ÄõÁõà ÍÛ¾Û›æ÷©Ûà ïéõ •Û¨Û©ÛÁõà þùÉÛÛÙÈÛÛé. (¶ ÛÈÛ ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ÍÛÛ© Û) 14 

 (1) …éïõ ï×õ¸Û¶Ûà ` 6,00,000¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û¶Ûä× …éïõ ýÛ×ªÛ ”ÛÁõàþùÈÛÛ ¾ÛÛ•Ûé ™öé ›÷é¶Ûä× Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ 
¸ÛÛ×̃ Û ÈÛÌÛÙ¶Ûä× ™öé. ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% ™öé, –ÛÍÛÛÁõÛé …¶Ûé ïõÁõÈÛéÁõÛ ¸ÛÐéüÅÛÛ¶Ûà ¶ÛºõÛ¶Ûà …ÛÈÛïõ ¶Ûà˜Ûé 
¸Ûó¾ÛÛ¨Ûé ™öé. : 

 (`̀̀̀) 

¸Ûó¬Û¾Û ÈÛÌÛÙ 1,60,000 

¼Ûà›Û ÈÛÌÛë 1,80,000 

ªÛà›Û ÈÛÌÛë 1,80,000 

˜ÛÛé¬ÛÛ ÈÛÌÛë 3,00,000 

¸ÛÛ×̃ Û¾ÛÛ ÈÛÌÛë 1,40,000 

  ÍÛÁéõÁõÛÉÛ ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ÐüÉÛé : 

  (a) 20% (b) 12% 

  (c) 15% (d) 18% 

 (2) …éïõ ¸ÛóÛé›÷éî¤ø¶Ûä× ›÷ÄõÁõà ¾Ûæ¦øàÁõÛéïõÛ¨Û ` 6,00,000 ™öé. ªÛ¨Û ÈÛÌÛÙ¶ÛÛé ¸ÛóÛ¸ýÛ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ¶Ûà˜Ûé 
¸Ûó¾ÛÛ¨Ûé ™öé : 

 (`̀̀̀) 

¸Ûó¬Û¾Û ÈÛÌÛÙ 2,40,000 

¼Ûà›Û ÈÛÌÛë 3,60,000 

ªÛà›Û ÈÛÌÛë 2,40,000 

  10%¶ÛÛ þùÁéõ ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¸ÛÜÁõ¼ÛÇ ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé. (…¶Ûä’õ¾Ûé) 

  0.9091, 0.8265, 0.7513 ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ˜ÛÛé””Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ïõýÛä× ÐüÉÛé ? (–ÛÍÛÛÁõÛé …¶Ûé 
ïõÁõÈÛéÁõÛ¶Ûé µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¶ÛÛ ¶Û¬Ûà) 

  (a) ` 1,20,300 (b) ` 96,036 

  (c) ` 69,060 (d) ` 1,05,060 

 (3) ¶ÛÛ¨ÛÛ×¶ÛÛ ÍÛ¾ÛýÛ ¾ÛæÅýÛ¶ÛÛ ”ýÛÛÅÛ ¸Ûó¾ÛÛ¨Ûé ¶ÛÛ¨ÛÛ×¶Ûä× ¾ÛæÅýÛ 

  (a) …•ÛÛŠ¶ÛÛ ÈÛÌÛÛë ïõÁõ©ÛÛ× ¸Û™öà¶ÛÛ ÈÛÌÛÛë¾ÛÛ× ‹˜Ûä× ÁõÐéü ™öé. 

  (b) ¸Û™öà¶ÛÛ ÈÛÌÛÛë ïõÁõ©ÛÛ× …•ÛÛŠ¶ÛÛ ÈÛÌÛÛë¾ÛÛ× ‹˜Ûä× ÁõÐéü ™öé. 

  (c) þùÁéõïõ ÈÛÌÛë ÍÛÁõ”Ûä× ÁõÐéü ™öé. 

  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïéõýÛ ¶ÛÐüá. 
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 (4) ¾ÛÛ¶ÛÍÛà ÜÅÛ. …éïõ ýÛÛé›÷¶ÛÛ¾ÛÛ× ` 10,00,000 ÁõÛéïõÈÛÛ ¾ÛÛ•Ûé ™öé ›÷é¶ÛÛ¬Ûà þùÁõ ÈÛÌÛë ` 1,60,000 ¶ÛÛé 
ÈÛÛÜÌÛÙïõ ¶ÛºõÛé ïõ¾ÛÛˆ ÉÛïéõ ™öé. (ÍÛàµÛàÅÛà¤øà¶Ûà Áõà©Ûé 10% –ÛÍÛÛÁõÛé •Û¨ýÛÛ ¸Û™öà) ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% 

  ™öé. ¸ÛÁõ©Û …Û¸Û ÍÛ¾ÛýÛ ïõýÛÛé ÐüÉÛé ? 

  (a) 3 ÈÛÌÛÙ …¶Ûé 6 ¾ÛÛÍÛ (b) 4 ÈÛÌÛÙ …¶Ûé 5 ¾ÛÛÍÛ 

  (c) 6 ÈÛÌÛÙ …¶Ûé 4.5 ¾ÛÛÍÛ (d) 5 ÈÛÌÛÙ …¶Ûé 5.33 ¾ÛÛÍÛ 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ÜÈÛµÛÛ¶Û ”ÛÛé¤ä×ø ™öé ? 

  (a) ÈÛ¤øÛÈÛéÅÛ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü¶Ûà ¸Û±ùÜ©Û ¶ÛÛ¨ÛÛ×¶Ûä× ÍÛ¾ÛýÛ ¾ÛæÅýÛ þùÉÛÛÙÈÛé ™öé. 

  (b) ¾Ûæ¦øà ¼Û›÷é¤ø¶Ûà ¸ÛóÜ’õýÛÛ¾ÛÛ× ¶ÛÈÛà ¸ÛóÛ¸©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà Ü¾ÛÅÛïõ©Û¶Ûä× ½Û×•ÛÛÁõ ¾ÛæÅýÛ ¸Û¨Û 
µýÛÛ¶Û¾ÛÛ× ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  (c) ¸ÛÁõ©Û-…Û¸Û ¾Ûäþù©Û¶Ûà ¸Û±ùÜ©Û …Û¸ÛéÅÛ ýÛÛé›÷¶ÛÛ¶Ûà ¶ÛºõÛïõÛÁõïõ©ÛÛ þùÉÛÛÙÈÛé ™öé. 

  (d) ˜ÛÛé””Ûä× ÈÛ©ÛÙ¾ÛÛ¶Û ¾ÛæÅýÛ ¤øïõÛÈÛÛÁõà ¶ÛÝÐü, ¸ÛÁ×õ©Ûä ÍÛÛþùÛé …Û×ïõ¦øÛé þùÉÛÛÙÈÛé ™öé. 

 (6) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà ¾ÛÛ˜ÛÙ ¾ÛÛÍÛ …×•Ûé¶ÛÛ ¾Û›æ÷Áõà ”Û˜ÛÙ¶Ûà ÜÈÛ•Û©ÛÛé þùÉÛÛÙÈÛé ™öé : 

…×þù Ûœ ÷ © Û ” ÛÁéõ ” ÛÁõ 

Š©¸ÛÛþù¶Û ÍÛ¾ÛýÛ = 12000 ïõÅÛÛïõ Š©¸ÛÛÜþù©Û …éïõ¾ÛÛé = 4500 …éïõ¾Û 

Š©¸ÛÛÜþù©Û …éïõ¾ÛÛé = 4000 …éïõ¾ÛÛé ˜ÛæïõÈÛéÅÛ ¾Û›æ÷Áõà = ` 2,16,000 

…éïõ¾Ûþùà¥ø ÍÛ¾ÛýÛ = 3 ïõÅÛÛïõ ïäõÅÛ ïõÛ¾Û¶ÛÛ ïõÅÛÛïõÛé = 13000 ïõÅÛÛïõ 

¾Û›æ÷Áõà þùÁõ = ` 15 ïõÅÛÛïþùà¥ø  

  Ü¶ÛÌ’õàýÛ ÍÛ¾ÛýÛ ¶Û¬Ûà. 

  ¾Û›æ÷Áõ þùÁõ ÜÈÛ˜ÛÅÛ¶Û ïéõ¤øÅÛä× ÐüÉÛé ? 

  (a) ` 12,000 ¸ÛóÜ©ÛïæõÇ (b) ` 21,000 ¸ÛóÜ©ÛïæõÇ 

  (c) ` 12,000 …¶ÛäïæõÇ (d) ` 21,000 …¶ÛäïæõÇ 

 (7) …éïõ ï×õ¸Û¶Ûà ¸Ûó¾ÛÛ¨Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û …¸Û¶ÛÛÈÛé ™öé. Š©¸ÛÛþù¶Û ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶ÛÛé ¸Ûó¾ÛÛ¨Û þùÁõ 
ïõÅÛÛïþùà¥ø ` 15 ™öé. ¾ÛÛ˜ÛÙ ¾ÛÛÍÛ¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

…×þùÛœ÷©Û ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ` 75,000 

”ÛÁéõ”ÛÁõ ïõÛ¾Û¶ÛÛ ïõÅÛÛïõÛé 5500 ïõÅÛÛïõ 

  ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ Š©¸ÛÛþù¶Û ÉÛÜî©Û ÜÈÛ˜ÛÅÛ¶Û ïéõ¤øÅÛä× ÐüÉÛé ? 

  (a) ` 7,500 (…¶ÛäïæõÇ) (b) ` 10,500 (…¶ÛäïæõÇ) 

  (c) ` 7,500 (¸ÛóÜ©ÛïæõÇ) (d) ` 10,500 (¸ÛóÜ©ÛïæõÇ) 
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 (8) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà ¼ÛÛ¼Û©Û¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä× ™öé ? 

  (a) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ¾ÛÛ× ïõÛýÛÙ“Û¾Û©ÛÛ ÜÈÛ˜ÛÅÛ¶Û ÐüÛé̂  ÉÛïéõ ¶ÛÐüá. 

  (b) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û …é¤øÅÛé ¼Û›÷é¤ø ¾Ûä›÷¼Û¶ÛÛé ïäõÅÛ ¸ÛÁõÛé“Û ”Û˜ÛÙ …¶Ûé ”ÛÁéõ”ÛÁõ ¬ÛýÛéÅÛ 
ÜÍ¬ÛÁõ ”Û˜ÛÙ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û. 

  (c) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ Ð×ü¾ÛéÉÛÛ ÜÍ¬ÛÁõ ÁõÐéü©ÛÛé ÐüÛéýÛ ™öé ©Ûé¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé ÐüÛé̂  ÉÛïéõ ¶ÛÐüá. 

  (d) ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÙ¶ÛÛ ÜÈÛ˜ÛÅÛ¶ÛÛé •Û¨Û©ÛÛ× ÈÛÍÛæÅÛÛ©Û¶ÛÛé þùÁõ •Û¨ÛÈÛÛé ›÷ÄõÁõà ¶Û¬Ûà. 

 (9) …ÛÅºõÛ ï×õ¸Û¶Ûà¶ÛÛ ¾ÛÛ˜ÛÙ ¾ÛÛÍÛ¶ÛÛ ”Û˜ÛÙ¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

ÜÈÛ• Û© Û ¸ Ûó¾ÛÛ¨Û ” ÛÁéõ ” ÛÁõ 

˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ` 5,700 ` 5,550 

ïõÛ¾ÛþùÛÁõ ïõÅÛÛïõÛé 2850 2700 

Š©¸ÛÛÜþù©Û …éïõ¾ÛÛé 6000 6000 

  ˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÙ ÜÈÛ˜ÛÅÛ¶Û ïõýÛä× ÐüÉÛé ? 

  (a) ` 75 (…¶ÛäïæõÇ) (b) ` 150 (…¶ÛäïæõÇ) 

  (c) ` 75 (¸ÛóÜ©ÛïæõÇ) (d) ` 150 (¸ÛóÜ©ÛïæõÇ) 

 

_____________ 
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Instructions : (1) Figure at the right side shows marks of the questions. 

    (2) Show necessary calculation as a part of your answer. 

 

1. The standard mix to produce one unit of product ‘M’ is as follow : 14 

Material Units Rate per unit (`̀̀̀) Amount (`̀̀̀) 

A 60 15  900  

B 80 20  1,600  

C 100 25  2,500  

    5,000  

 During the month of April, 10 units were actually produced and consumption was as 

follows : 

Material Units Rate per unit (`̀̀̀) Amount (`̀̀̀) 

A 640 17.50  11,200  

B 950 18.00  17,100  

C 870 27.50  23,925  

 2,460   52,225  

 Calculate : 

 (1) Material Cost Variance 

 (2) Material Price Variance 

 (3) Material Usage Variance 

 (4) Material Mix Variance 

 (5) Material Yield Variance 

          OR 
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1. From the given data below, calculate the following Labour Variances  : 14 

 (1) Labour Cost Variance 

 (2) Labour Rate Variance 

 (3) Labour Mix Variance 

 (4) Labour Efficiency Variance 

Type 
Actual Standard 

Hours Rate ((((`̀̀̀)))) Amt. ((((`̀̀̀)))) Hours Rate ((((`̀̀̀)))) Amt. ((((`̀̀̀)))) 

Skilled 350 25 8,750 400 20 8,000 

Unskilled 525 10 5,250 500 10 5,000 

Helpers 675 04 2,700 700 05 3,500 

   16,700   16,500 

 

2. (a) Write limitations of Standard Costing System. 4 

 (b) The following information is available from the records of Sigma Works Pvt. Ltd. 10 

    Particulars Estimated Actual 

Production units 7500 7875 

Actual hours – 82,500 

Fixed Overheads (`) 75,000 90,000 

Standard time per unit (hr) 10 – 

   Calculate : 

   (1) Fixed Overhead Variance 

   (2) Expenditure Variance (Budget Variance) 

   (3) Fixed Expenditure Volume Variance 

   (4) Efficiency Variance 

   (5) Production Capacity Variance 

              OR 
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2. The Budgeted and Actual Sales for a period in respect of three commodities are given 

below :   14 

Commodity 

Budgeted Actual 

Qty. 
Selling price 

per unit ((((`̀̀̀)))) 
Qty. 

Selling price 

per unit ((((`̀̀̀)))) 

A 3,500 15 3,500 15 

B 4,200 18.75 2,800 18 

C 2,800 20.25 2,100 21 

 10,500  8,400  

 Calculate : 

  (1) Sales Value Variance 

 (2) Sales Price Variance 

 (3) Sales Sub-Volume Variance 

 (4) Sales Volume Variance 

 (5) Sales Mix Variance 

 

3. (a) What sum of money should be invested at 5% compound interest rate for 20 years 

which will amount to ` 36,000 ? 3 

 (b) If the rate of interest is 12%, compute the present value of the cash flow streams 

given below : 4 

  (1) ` 5,000 at the end of first year and third year. 

  (2) ` 5,000 at the end of third year and fifth year. 

  Present value as per Table A-3 

Year  

I 0.893 

II 0.797 

III 0.712 

IV 0.636 

V 0.567 

 (c) State different techniques of discounting and discuss any two. 7 

             OR 

3. (a) Explain Internal Rate of Return (IRR) method. 7 

 (b) Write short note on ‘Pay Back Period’ method. 3 
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 (c) An investor has two alternatives, assuming 10% rate of interest show which 

alternative should be selected (profitable). 4 

  (1) To get ` 20,000 after 4 years. 

  (2) To get ` 5,000 every year for 4 years. 

             At the rate of 10% 

Factor as per table-3 Factor as per table-4 

For 2 years 0.826 1.736 

For 4 years 0.683 3.170 

For 6 years 0.584 4.355 

 

4. The estimated earnings per year before depreciation and tax of a project is ` 1,40,000. 

The other information of the project is as under : 14 

 Investment required = ` 2,00,000. 

 Scrap value at the end of estimated life of 5 years ` 40,000, Rate of tax = 50%, Cost of 

capital after tax is 10% in this project ? 

 (a) What will be the net present value in this project ?  

 (b) Find out internal rate of return with the help of 20% discount factor and 22% 

discount factor. 

Factor Table 

Year →→→→ 1 2 3 4 5 

Present value @ 10% 0.909 0.827 0.751 0.683 0.621 

Present value @ 20% 0.8333 0.6944 0.5787 0.4823 0.4019 

Present value @ 22% 0.8197 0.6719 0.5507 0.4514 0.3700 

OR 
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4. Vikas Ltd. wants to purchase a machine. Company has two proposals of machine (X) 

and machine (Y). Each machine requires investment of ` 10,00,000 having scrap value 

of ` 50,000 at the end of useful life of 5 years. Rate of tax is 50% and cost of capital is 

12%.    14  

 Earnings before depreciation and tax of both the machines is as follow : 

Year Machine X 

((((`̀̀̀)))) 

Machine Y 

((((`̀̀̀)))) 

1 6,50,000 5,50,000 

2 5,00,000 6,50,000 

3 4,00,000 4,00,000 

4 3,50,000 3,00,000 

5 2,50,000 3,50,000 

 Evaluate the proposal and select most profitable machine using following                

methods : 

 (1) Pay back period method 

 (2) Average rate of return method 

 (3) Net present value method 

 (4) Profitability Index 

 Present value of ` 1 at the rate of 12% is as under : 

Year 1 2 3 4 5 

Present Value 0.893 0.797 0.712 0.636 0.567 
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5. In the following sub-questions more than one answer is given, select the correct answer 

supported by necessary explanation / working notes. (any seven out of nine) 14 

 (1) A company wants to purchase a machine costing ` 6,00,000, having useful life             

of 5 years. Rate of tax is 50%, the profit before depreciation and tax are as    

follows : 

Year (`̀̀̀) 

I 1,60,000 

II 1,80,000 

III 1,80,000 

IV 3,00,000 

V 1,40,000 

  Average rate of return will be as under : 

  (a) 20% (b) 12% 

  (c) 15% (d) 18% 

 (2) A project requires investment of ` 6,00,000. Available cash flow for three years is 

as follows : 

Year ((((`̀̀̀)))) 

I 2,40,000 

II 3,60,000 

III 2,40,000 

  Present value factors at 10% are 0.9091, 0.8265, 0.7513 respectively.               

Which of the following is the net present value (ignore depreciation and tax) 

  (a) ` 1,20,300 (b) ` 96,036 

  (c) ` 69,060 (d) ` 1,05,060 

 (3) As per the concept of “Time Value of Money”, the value of money  

  (a) is higher in later years than in earlier years. 

  (b) is higher in earlier years than in later years. 

  (c) is equal in all the years. 

  (d) none of the above. 
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 (4) Mansi Ltd. wants to invest ` 10,00,000 in a project, which will earn annual profit 

of ` 1,60,000. After charging 10% depreciation on SLM method, rate of tax is 

50%. 

  What will be the payback period ? 

  (a) 3 years and 6 months (b) 4 years and 5 months 

  (c) 6 years and 4.5 months (d) 5 years and 5.33 months 

 (5) Which of the following statements is wrong ? 

  (a) Discounted cash flow takes into consideration the time value of money. 

  (b) In capital budgeting the scrap value of a newly acquired machine is also 

considered. 

  (c) Payback period method shows profitability of a given project. 

  (d) ‘Net present value’ shows a simple figure, not percentage. 

 (6) The following information relates to labour cost for the month of March : 

Budgeted Actual 

Production time = 12000 hrs Produced units = 4500 units 

Production units = 4000 units Wages paid = ` 2,16,000 

Time per unit = 3 hrs Total hours worked = 13000 hrs  

Labour rate = ` 15 per hr.  

  There is no idle time. 

  What is the labour rate variance ? 

  (a) ` 12,000 adverse (b) ` 21,000 adverse 

  (c) ` 12,000 favourable (d) ` 21,000 favourable 

 (7) A company operates a standard absorption costing system. The standard fixed 

production overhead rate is ` 15 per hr. The following data relate to the month of 

March. 

Budgeted Fixed Overheads ` 75,000 

Actual hours worked 5500 hrs 

  What was the fixed production overhead capacity variance ? 

  (a) ` 7,500 (favourable) (b) ` 10,500 (favourable) 

  (c) ` 7,500 (Adverse) (d) ` 10,500 (Adverse) 
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 (8) Which of the following statement is correct as regards fixed overhead variances ? 

  (a) There can be no efficiency variance in fixed overheads. 

  (b) Fixed overhead budget variance is the difference between total fixed 

overheads as per budget and actual fixed overheads. 

  (c) As fixed overhead always remains fixed, there can be no variance as regards 

fixed overheads. 

  (d) While computing fixed overheads variance it is not necessary to work out 

recovery rate. 

 (9) Alfa Ltd. incurred the following in the month of March : 

Particulars Standard Actual 

Variable Overheads ` 5,700 ` 5,550 

Labour Hours 2850 2700 

Units produced 6000 6000 

  The variable overhead expenditure variance was  

  (a) ` 75 (Favourable) (b) ` 150 (Favourable) 

  (c) ` 75 (Adverse) (d) ` 150 (Adverse) 

_____________ 


